pra

4

2
=

1

&

o] 100mmHg

)

gelol 160mmHgol A,

& o)

[e

120mmHg/80mmHgo]™

Il

A

€42

el

A

H]

VAL,

oS R

N
o &

ke

O
ol

]

£

-

oo

1.

90%

v]2) 7}

4=

3]

pe

=z

] oFzdel

o] Liehet

]

=

E

= A0RA

fl =3t

ol A+l

5
<

A

O~
-



/
L RE

TS i
LRE 2T AgRS
[N =/

2= Z:o
TS S5

t
AT 182h

Y2 2
Y

S

L—

ol 71 Rdrol BEA] T QL

T2 R

T, QL 2RO
A

e
o
IYQtoitt,

%909

TPQPOE EH
=

ZEIY

ST UI2E SO AT ]
-7 280 B80! M He HMelE 2 e
“PM ZHTHA9) 288 i 2 EY0L B
Bl HSNQE I CHH9 288 2ABTH
:&A«?—Q} 71 28 N HEE 712610 HTE
<ED | 28 =23 - 1
74 7| Z-‘:‘E 400m/5&
1600m /208
ZEHAF) | H2lm) |2 AEKE) 28
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9~10 3.2 40 =
11~12 36 45
13~14 40 40
15~16 14 55
17~18 18 60
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Hilao 400m/58 1~2 16 14
1600m /208 3~ 4 2.0 175
ZSEA(F) | H2lke) 2B AMIHE) 25 H= 5~6 2.4 21
1~2 16 16 7~8 28 245
3~4 2.0 20 9~10 32 28 = 43
5~6 24 24 11~12 3.6 315
7~8 28 28 13~14 10 35
9~10 3.2 32 = 45 15~16 14 385
11~12 36 36 17~18 18 42
13~14 10 40 19~20 52 155
15~16 44 44 21~22 5.6 19
17~18 48 18 23~24 6.0 52.5
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